
Each of these function machines has two steps. Give the missing inputs and outputs for each machine. 

�\�               ���ACHG� � � ���HA6G<BA� ������������HA6G<BA� � �����������������������"HGCHG

�\�              ����ACHG� � � ���HA6G<BA� ������������HA6G<BA� � �����������������������"HGCHG

��

��

6\

6\

4\

4\

�

�

����

��

7\

7\

5\

5\

���

��

���

���

8\

8\

�Ʈ

���

9\

9\

Ǥ�

Ǡ�

ǡ�

÷4

�\� Give the missing function and missing inputs for this two-step function machine.

              �����ACHG� � � ��HA6G<BA� ���������HA6G<BA� � �����������������"HGCHG

�� ��

5\ ��

�� ��

6\ ���

4\ ��

7\ �����

Ǡ�

visit twinkl.com



�\� Look at these two-step function machines.

Do you agree or disagree with each child’s statement? Explain why.
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If I add the function  
ǡ��<AGB�5BG;�9HA6G<BA�@46;<A8F� 
G;8A�5BG;�@46;<A8F�J<??�:<I8�G;8� 

same answer.

If I add the function  
Ǥ��4F�G;8�@<FF<A:�9HA6G<BA�<A�5BG;�
@46;<A8F
�G;8L�J<??�5BG;�:<I8�G;8 

same answer.
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